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187+ 300 = L7 354+ 300 = 654
253+ 300 = 553 239+ 700 = 939
104+ 400 = 504 222 + 600 = 822
822+ 100= 922 kek + 500 = 964
250+ 400 = 650 621 + 300= 921
276+ 300 = 576 416 + 400= 816
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187+ 300 = L7 354 4+ 300 = 654
253+ 300 = 553 239+ 700 = 939
104+ 400 = 504 222 + 600 = 822
822+ 100= 922 heh + 500 = 964
250+ 400 = 650 621 + 300z 921
276+ 300 = 576 416 + 400= 816
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498 - 200 = 298 975 - 600 = 375
755 - 600 = 155 763 - 700 = 63
928 - 800 = 128 689 - 200z 489
576 - 300 = 276 167 - 100 = 67
900 - 400 = 500 Fhh - 500 = 244
832 - 500z 332 899 - 300 = 599
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498 - 200 = 298 975 - 600 = 375
755 - 600 = 155 763 - 700 = 63
928 - 800 = 128 689 - 200z 489
576 - 300 = 276 167 - 100 = 67
900 - 400 = 500 Fhb - 500 = 244
832 - 500z 332 899 - 300 = 599
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0 2 x F = Ak
3 2 x 1= 2
12 2 X 2 = 4
6 2x 5= 10
16 2 x 10 = 20
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0 2 x 7 = Ak
3 2 x 1= 2
12 2 x 2= 4
6 2 x 5= 10
16 2 x 10 = 20
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60+245= 305 70+415= 485

70+352= 422 90+319= 409

30+431= 467 20+830= 850

50+697=  #47 30+949= 979

LO+834= 874 50+151=" 201
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0 3 x £ = 21
12 3x 1= 3
18 3 X 2= 6
9 3 x 5= 15
24 3 x 10 = 30
27 3x0= 0
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0 3 X F = 21
12 3 x 1= 3
18 3X 2= 6
9 3 x 5= 15
24 3 x 10 = 30

27 3x0= 0
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3x 0= 0 3 X F = 21
2 X b = 8 2 x 1= 2
2 x 6 = 12 2 X 2 = 4
3x 3 = 9 3 x 5= 15
3 X 8 = 24 2 x 10 = 20
2 x 9= 18 3 x0 = 0

3x 0= 0 3 Xx £ = 2
2 X b = 8 2 x 1= 2
2 x 6 = 12 2 x 2= 4
3Xx 3 = 9 3 x 5= 15
3 X 8 = 24 2 x 10 = 20
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5x 0= 0 5x # = 35
5x 4 = 20 5x 1= 5
5x 6 = 30 5x 2 = 10
5x 3 = 15 5x 5 = 25
5x 8 = 40 5x 410 = 50
5x 9 = 45 5x0 = 0

5x 0= 0 5x # = 35
5x 4 = 20 5x 1= 5
5x 6 = 30 5x 2= 10
5x 3 = 15 5x 5= 25
5x 8 = 40 5x 10 = 50
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10 x 0 = 10 10 x 7 = 70
10 X 4 = 40 10 x 1 = 10
10 x 6 = 60 10 x 2 = 20
10 x 3 = 30 10 x 5 = 50
10 x 8 = 80 10 x 10 = 100
10 x 9 = 90
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10 x 0 = 10 10 x 7 = 70
10 X 4 = 40 10 x 1 = 10
10 x 6 = 60 10 x 2 = 20
10 x 3 = 30 10 x 5 = 50
10 x 8 = 80 10 x 10 = 100

10 x 9 = 90




